Jungle Jive Crossword Puzzle

Answers for 4th Grade - Lesson #2
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ACROSS

Lilly the Lash thought their actions were this
Lilly got stuck in this substance
Teeder the Toad encourages this

What did the grasses become because of the sun?

10 The name of the town the villagers lived in
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The decisions made by the town left them off what?
Silk the Salamander was an announcer for this

Lilly the Lash detected a cloud of what?

Who they'll have to bunk with until houses are repaired

The villagers focused too much on this
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